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return TRUE

elseif T<QorX =02 (o]
/-\

return FALSE ()

else el C

x « any element of

with « SUBSETSU A —x)
wout « SUBSETSU ‘I, T)
return (with V wout £

i] sumto T?))

{(Does any sub fX[1..
SuBseTSUM(K/, iNXI):

I cont4 o OQ- Q(‘(\QY
elseif T <0ori=0 )

Yo ©

return FALSE

else Yo
D(\; SuBseTSuM(X,i—1, T —X[i]) ((Recurse!))
— SuE SETSUM(Xl 1. 1) ((Recursel)) |.
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Given an index i, find a segmentation of the suffix A[i..n]. t

: =G

Tocnelize  an (\@(72) reciTSEn

TRUE ifi>n

3 Splittable(i) = {
2 ) \/ (ISWORD(i,j) A Splittable(j + 1)) otherwise

Sernt-|

dAben (ocle t

((Is the suffix A[i .. n] Splittable?))

SPLITTABLE(i):
ifi>n
return TRUE ? 7
for je—iton
if IsWorbD(i, j) ’oo~

if SPLITTABLE(j + 1)
return TRUE

return FALSE
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Given two indices i and j, where i < j, find the longest increasing
subsequence of A[j..n] in which every element is larger than A[i].

E&&w’étb“\ :
/\g

(0 if j >n
LISbigger(i,j + 1) if A[i] > A[j]

LISbigger(i,j+ 1)
m
L 1 + LISbigger(j,j+ 1)

LISbigger(i, j) = 1

} otherwise
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LISBIGGER(1, j):
if j>n
return O
else if A[i] > A[j]
return LISBIGGER(i,j + 1)

else
skip < LISBIGGER(i,j + 1)
take < LISBIGGER(j,j+1)+1
return max{skip, take}
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gb ‘. LIS(A[1..n]):
A[0] « —o0

return LISBIGGER(0, 1)




